3{8em-6/CBCS) ECOHE 2

2022

- ECONOMICS
Paper : ECO-HE-6026

( International Economics )

( Honours Elective )

Full Marks : 80

Time: 3 hours

The ﬁ gures in the margin, mdlcate full marks
- for the quesuons

Answer elther m Enghsh or in Assamese

1. Answer any f67 of the following quesh’fiins :
1x10=10
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(@) Mention one feature of international
trade.

HrEEiies qferd 9o (3B Sray 11 1
(b) What is international economics?
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(c) What is meant by comparative cost
differences?
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(d)

(e)

Give one essential element of
Heckscher-Ohlin theory of international
trade.
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What is meant by Leontief paradox?
P efowr ivg w17 & g= @2

How does economies of scale affect
international trade?
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Who developed the technological gap;f‘;i‘%

model of mternatlonal trade?
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Define multinational enterprise.
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Give one argument in favour of free
trade.
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Mention one objective of trade
restriction.
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(k) What is political argument for trade
intervention?
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() What is protection trade?
Fafre qrfaw &2

(m) Define flexible exchange rate.

sifRasa9e RiTm 71 sicst faan

(n) What is forelgn exchange -market?

Z‘amf'?ms R =R ﬁs 7.

(o) State one main:; feature of European
Monetary System
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2. Answer the following questions in brief (any
five) : 2x5=10
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(a) Write two subject matters  of
international economics.

wEEfeF wYAfed 761 R o 1
(b) What is meant by pattern of trade?
mﬁﬁw 13 i & & | 7
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(c)

(d)

Distinguish between complete and
incomplete specialization.
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Mention two assumptions of Heckscher-
Ohlin theory of international trade.
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What is mternatxonal product cycle

';g:;{theoxy?

(g)
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Is there any: :‘elevance of the thcoxyi?”gf
comparatme cost advantage in a, giobally
integrated world? Give two arguments.
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What is financial globalization?
& eI 2

Mention two causes for the downfall of
Bretton-Woods system.
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3. Answer any four of the following questions :
S5x4=20
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(@)

(b)

What are the reasons for international
trade? Explain.

TEEfes ATt FRIER &2 Im F]40

Explain the reasons which led to the
evolution of international economics as
a dlsnnct branch of econormcs
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(d)

(e)
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Discuss the . Va11d1ty of Ricar diarf”}i':’

comparatwe costs theory in developmg
countrles """
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Explain the localization theory of
international trade in brief.
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Distinguish between free trade and
protection.



(g)

(h)
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Explain the meaning of tariff. What are
the main types of tariffs?
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Distinguish between tariff barriers and
non-tariff barriers.

¥s At WE TH-wE AfSIme TEe
of1efF] AT 391 |

In what way is the equilibrium rate of
exchange determined under fixed
.exchange rate system?
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4 Answer any four of the followmg questions £,

T T T 10x4 40
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(a)

(b)

Explain clearly the Ricardian
comparative costs theory of
international trade.
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“Factor proportions and factor intensity
provide the basis for export
specialization.” Explain.
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(c)

(d)

Discuss the superiority of Heckscher-
Ohlin theory over the Ricardian theory
of international trade. State the limita-

tions of Heckscher-Ohlin theory. 5+5=10
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State and explain the technological gap
model of international trade.
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Describe the mai.n:;..zé’téges in the product

cycle model.
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Analyze the effects of tariffs in a parna.l
equilibrium system.
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Explain clearly the concept of optimum
tariff. @ Establish the relationship
between elasticity of offer curve and

10

10

optimum tariff. 4+6=10
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(h) Compare the effectiveness of tariff and
quota as weapons of-trade restrictions. 10

e PrgR e Bone s W sAfemd
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(i How was equilibrium exchange rate
determined under gold standard? What
were the reasons for the collapse of the
gold standard? 7+3=10

Ffqwe SRR e RN z/ @i

{j" Discuss the key:. yeasons for the )
international ﬁnancnal crisis. What are ':;:.,?31:3’
the effects of thc international financial.;
crisis? 6+4 10
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